Inflation

Case Study

There was a time when prices were rising fast and people had to safeguard their real standards of living. Interest rates were high and house prices fell. The economy lacked a competitive edge and finally some structural problems arose. Unemployment increased and government borrowing climbed. The situation was serious and some unpleasant medicine had to be applied.

Questions

1. Why might fast rising prices cause falls in living standards?

2. Why did structural problems arise within the economy?

3. In what ways might the government have tried to correct this situation?

Answers

1. Rising prices cause a fall in the value of money and therefore people have less disposable income to spend. This affects their standards of living and they may be forced to reduce their savings, extend credit or even sell assets, such as houses. So, the impact on individuals of a persistent increase in the general level of prices can be serious.

2. As prices rose, especially if they were rising faster than our major trading rivals so we lost price competitiveness. This might have led to an increase in imports, as they appeared to be cheaper and exports might have looked too expensive. Output would have been under pressure and will probably have fallen. As it did so the rate of unemployment would have risen. This would have required the government to spend more on benefits. This would have increased their borrowing and might have put further pressure on interest rates.

3. The government would have needed to act fast and with some severity. They might have increased taxes, both to slowdown the price rises, or increased interest rates. The latter would have made borrowing more expensive. In the short run this would have led to further rises in unemployment and the problems that this would force on individuals. However, the government had to restore the competitiveness to the economy. In the longer run they would have increased their use of supply-side policies. They might also have allowed the pound to slip in value. All of these policies involve both some pain and a degree of risk. For if they do not work the situation might actually get worse.

